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What does the following sentence mean?
Tiene el pelo largo.

He/She has brown hair.

He/She has a long nose.

He/She has long hair

He/She has brown glasses.

Which sentence means He/She has curly
hair?

Tiene el pelo gris.

Tiene el pelo corto y rizado.

Tiene el pelo rojo y largo.

Tiene el pelo largo y lisa.

What does the following sentence mean?
Tiene un bigote negro?

He has a black beard.
He has a brown moustache.
He has a big hat.

He has a black moustache.

Which is the correct translation of the
following sentence? She has three red ears

Tiene una oreja roja.

Tiene tres orejas rojos.
Tiene tres rojas orejas.
Tiene tres orejas rojas.

Which of these words would complete
the following sentence? Tiene dos cejas...

..azul.
..verdes.
..Negros.

..roja.
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How do you say the following in Spanish?
He/She has green eyes.

Tiene los ojos azules.
Tiene ojo verde.
Tiene los ojos verdes.

Tiene los verdes ojos.

Which facial feature is una boca?

An ear.

An eyebrow.
A tooth.

A mouth.

Which word would complete the
following sentence? __ __ el pelo negro.

Tiene
Es
Lleva
Tengo

Which word would complete this
sentence? Tiene tres bocas...

..amarillo
..amarilla
..amarillos

..amarillas

Which caption describes this portrait?

Tiene dos bocas verdes y una nariz azul.
Tiene una oreja negra y dos cejas marrones.

Tiene tres 0jos naranjas y dos bocas marrones.
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